Ta RE2 7{4E, 2H2l2| &~ A8 AY

=5 4Y/HIE o[0ix|

ks

THE:

AEQE|A A”, HY F

A2IEEE LIAL ISO 4762

1.4308.
£7 L1{E I1SO 4032, AH|QIE|A AR

Lol |

=M
A
I W
Q —-+|—+—-—l -—\—-—li a @ a
M
K
C
7 | S
[—— @) -
Vg
7 |
& '
S G
_ R
L
£= 20
FEHS Efel A B C D E F K L M P R S
K0475.11212 A 12,1 12,1 305 25 32 35 555 65,5 43 23 495 M6x18
K0475.11414 A 14,1 14,1 305 25 32 35 555 65,5 43 23 495 M6x18
K0475.11616 A 16,1 16,1 305 25 32 35 555 65,5 43 23 495 M6x18
K0475.11818 A 18,1 18,1 305 25 32 35 555 65,5 43 23 495 M6x18
K0475.12020 A 20,1 20,1 305 25 32 35 555 65,5 43 23 495 M6x18

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



Kinn

T RE HYEH, 2HQl2| A 28 AY

0

12

g5

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



